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FRERERAOGIEAZEHZED) {I_'-I\*[M'EESH 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 301 346 394 740
EARI1TH 1,042 1,149 1,261 2410
mAET2TH 1,198 1,014 1,365 2,379
A R T 2,339 2,324 2,597 4,921
BERT1TH 605 586 629 1,215
B EET2T H 404 402 444 846
B ERI3TH 308 361 317 678
B ERTATH 538 482 516 998
B ERSTH 824 883 890 1,773
I ER6TH 377 393 417 810
HiF = HT 543 582 628 1,210
45 KHT 515 584 612 1,196
HHT 998 1,077 1,211 2,288
BEHT 51 53 58 111
A K BT 620 699 727 1,426
7 HT 434 439 457 896
RILHT 452 473 522 995
FORHET 196 184 219 403
RFHT 206 202 236 438
KHET 357 327 369 696
KET1TH 234 236 281 517
XKET3TH 295 343 331 674
XETATH 870 800 988 1,788
fit] LLI BT 2,441 2,753 2,896 5,649
JE LT 992 1,101 1,200 2,301
EHERT2TH 315 452 447 899
EHERISTH 432 530 532 1,062
EHERT4TH 396 466 492 958
EHERSTH 343 390 453 843
EHERT6TH 216 287 280 567
EHERT7TH 171 256 263 519
=Y:i 337 337 375 712
8 [ T 1,626 1,457 1,684 3,141
=i ET 512 542 626 1,168
2l 3t BT 487 581 560 1,141
N =15 102 113 121 234
+HEFRT A 640 635 704 1,339
L EFHTER 848 758 849 1,607
L HAET 1,997 2,163 2,252 4415
LFH¥ABT1TH 73 122 113 235
LE¥ET2T B 155 155 177 332




HEZ HH 5 £ i
LFEI3TH 153 150 172 322
L¥AET4 T B 165 179 205 384
LHABTS T B 218 267 302 569
I == HT 204 208 229 437
JOSFET1TH 562 541 538 1,079
JNsFET2T H 555 525 571 1,096
JO=fET3TH 426 430 414 844
M=rET4T H 1,081 1,079 1,103 2,182
I S5k T 584 589 659 1,248
I=F5di) 225 212 249 461
Jt B BT 30 36 37 73
E[d:) 402 356 344 700
478 = HT 816 925 975 1,900
FHRHET 83 79 95 174
1 2 FF T 351 390 421 811
BEFE1TH 93 116 125 241
BEFE2TH 274 305 321 626
T EHT 131 139 142 281
/N BB T 3,105 3,077 3,293 6,370
1R HT 258 278 297 575
YEZF HT 766 753 790 1,543
EXBI1TH 260 251 258 509
=/ LLIHT 216 159 124 283
Hh ek HT 25 25 4 29
T A EHET 11 16 12 28
THHEE1TH 725 644 689 1,333
THHEE2TH 531 552 543 1,095
THHEESTH 862 889 1,019 1,908
TEHE1TH 183 181 173 354
TEHRI2TH 815 753 861 1,614
TEHRISTH 165 179 186 365
TEHRI4ATH 99 110 120 230
TEHRISTH 213 231 238 469
T HAET 570 605 626 1,231
TET1TH 356 352 357 709
THET2 T H 467 432 492 924
TH¥BISTH 199 194 223 417
THABTATH 153 145 178 323
TH¥BISTH 160 171 199 370
HTAEHET 17 16 8 24
T 184 198 180 378
#8)11 BT 46 46 54 100
KT HT 297 308 340 648
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HEZ HH 5 £ i

7B KHT 1,649 1,635 1,787 3,422
&)1 HT 267 320 308 628
XLAT1TH 838 733 898 1,631
X#ILET2TH 318 346 369 715
X#ILET3TH 156 154 168 322
1 [ BT 44 64 71 135
hHET1TH 390 425 405 830
hHET2TH 470 471 519 990
hHBEI3TH 453 511 504 1,015
aiEld:) 250 224 276 500
th 2 JEHT 221 204 229 433
ch T 134 126 161 287
TR AHT 775 865 870 1,735
At FAET 881 867 1,004 1,871
75 K ERET 771 943 988 1,931
75 2 [N HET 1,668 1,809 1,940 3,749
JAHT 900 858 949 1,807
$FHET1TH 525 468 509 977
$FHET2T H 396 384 429 813
¥FHETST B 197 205 221 426
T 166 210 216 426
HET1 T B 387 478 505 983
HET2 T B 346 362 405 767
HET3 T B 359 392 442 834
HET4 T B 124 119 150 269
AN ) 983 1,047 1,101 2,148
J\ EHHT 158 193 186 379
+ A ERT 250 277 312 589
T A HT 1,621 1,586 1,800 3,386
THB1TH 21 19 18 37
T4HB2TH 1,453 1,339 1,342 2,681
T4HBI3TH 187 169 161 330
T4RBI4TH 375 311 373 684
T4RB5TH 926 631 919 1,550
T4HBI6TH 622 592 643 1,235
THBI7TH 358 371 416 787
T4HBISTH 376 393 413 806
THRBOTH 404 446 505 951
THB12TH 237 259 261 520
T+4R13TH 318 355 388 743
AR NBHT 1,949 1,671 1,944 3,615
HARRHET 1,373 1,243 1,174 2,417
H AR KR ET 293 367 380 747
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HEZ HH 5 = 5
E AR ERT 166 173 179 352
- WNEL] 137 119 143 262
FH AR hHT 205 225 263 488
FHARAKHET 442 463 494 957
& AR ElT 319 330 374 704
EHARE)IIHET 282 262 294 556
=N ] 115 120 136 256
FH AR JTHT 103 97 112 209
EARERHE 662 560 651 1,211
B K R HET 385 392 397 789
Edsa] 883 883 1,014 1,897
BEFET1TH 751 730 734 1,464
BEFET2TH 605 606 687 1,293
RIS TH 342 404 408 812
AIFTET1TH 430 384 424 808
AIFFRT2T B 598 606 672 1,278
AIFFATI3T B 645 726 784 1,510
A HT 183 193 190 383
B LH 251 321 335 656
NEL] 793 747 820 1,567
ERL 772 941 938 1,879
= HHE 1,727 1,905 1,969 3,874
HETHRET1TH 574 617 659 1,276
HLIRET2TH 518 590 647 1,237
HLIREISTH 298 368 371 739
P fx T 315 357 386 743
mERI1TH 1,167 1,118 1,274 2,392
mERI2TH 839 945 1,039 1,984
FA T 1,365 1,376 1,539 2,915
= RITET 528 488 539 1,027
= AHT 358 283 335 618
AR#1HT 7 5 4 9
L& AR ET 499 554 506 1,060
SHET1TH 713 622 775 1,397
S HET2TH 413 444 471 915
aHEI3TH 853 721 880 1,601
S HET4TH 748 613 822 1,435
E& T 1 1 0 1
J\BRET1TH 218 254 270 524
J\BRET2T B 228 230 244 474
J\BRBT3TH 241 300 307 607
1TaHT 300 421 410 831
FHRIBRT1 T H 169 201 209 410
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HEZ HH 5 £ 5
FIEIET2 T B 299 428 456 884
FIEIET3 T B 109 180 170 350
EOER1TH 103 162 157 319
FEOER2TH 0 0 0 0
FENDERITH 21 19 2 21

wEE 89,095 | 91,054| 983808 | 189,862
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